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w g “E 4 Q. SECTION - A (10 X 1 = 10 Marks)
g 8 8 2 No. Answer ALL Questions.
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Co1 K1 1. | Which of the following is a key feature of a branch accounting systems?
a) Independent legal entity
b) Separate financial statements are not required
c) Centralizing accounting records
d) No need stock valuation
Co1 K2 2. | Goodwill is classified as a.
a) Tangible asset b) Intangible asset c) Current liability d) Fictitious asset
CcO2 K1 3. | What is the primary purpose of departmental accounting?
a) To maintain secrecy in business operations
b) To track financial performance of different departments
c) To Increase overall expenses
d) To Avoid financial reporting
CO2 K2 4. | In a partnership the profit sharing ration is generally determined by.
a) The government regulations
b) The capital contribution of partners
c) The mutual agreement between partners
d) The bankers decision
CO3 K1 S. | Which is distinguishing feature of the hire purchase system?
a) Immediate transfer of ownership to the buyer
b) Payment is made in a lump sum
c) Ownership transfers only after full payment
d) Interest is not charged
CO3 K2 6. | Under the instalment system the buyer becomes the owner of the goods.
a) Immediately upon signing the contract
b) After paying the first instalment
c) After making all the agreed payments
d) When the seller deliver the goods
CO4 K1 7. | Preliminary expenses appear in the balance sheet under.
a) Share capital b) Non-current liabilities
c) Current assets d) Miscellaneous expenditure
CO4 | K2 8. | In branch accounting goods sent by the head office to a branch are recorded
at.
a) Selling price b) Cost price or Invoice price
c) Market price d) Discounted price




CO5 K1 9. | What is the term for a partner who contributes capital but does not take part
in business operations?

a) Active partner b) Dormant partner
c) Nominal partner d) Secret partner
CO5 K2 10. | In the royalty agreement the minimum rent is.
a) The lowest amount payable even if production is Zero
b) A refundable deposit
c) Paid only in profitable years
d) Not a part of the royalty account
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g 8 8 -1,-’ No. Answer ALL Questions choosing either (a) or (b)
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Co1 K3 11a. | State the difference between branch accounts and departmental accounts.
(OR)

Co1 K3 11b. | Describe the features of branch and departmental accounts.

CO2 K3 12a. | Discuss the difference between hire purchase system and instalment system.
(OR)

CO2 K3 12b. | On 1.1.86 X purchased machinery on hire purchase system. The payment is
to be made Rs 4000 down (on signing of the contract) and Rs 4000 annually
for three years .The cash price of the machinery is Rs 14900 and the rate of
interest is 5% .Calculate the interest in each year instalment.

CO3 K4 13a. | Describe a short notes on royalty, minimum rent, short workings,sub-lease,
strike.

(OR)
CO3 K4 13b. | A company leased a colliery on 1.1.92 at a minimum rent of Rs 20000
merging into a royalty of Rs 1.50 per tonne with power to recoup short
workings over the first four years of the lease. The output of the colliery for
the first four years was 9000 tonnes, 12000 tonnes, 16000 tonnes, and
20000 tonnes, respectively. Give journal entries and ledger accounts for four
years in the books of lessee and lessor.
CO4 K4 14a. | Evaluate the types of contract.
(OR)

CcO4 K4 14b. | Enumerate the difference between sacrificing ratio and gaining ratio.

CO5 K5 15a. | Assess the difference between revaluation account and realisation account.
(OR)

CO5 K5 | 15b. | Show how the following items will appear in the capital accounts of the

partners, Babu and Gopu when their capitals are fluctuating

Particulars Babu (Rs) | Gopu (Rs)
Capital on 1.1.87 800000 700000
Drawings 160000 140000
Interest at 5% on Drawing 4000 2000
Shares of profits 84000 66000
Interest on capital 6% 48000 42000
Salary 72000 Nil
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Co1 K3 16a. | Explain the features of different types of branches and the type of accounting

followed in them.
(OR)




CO1 K3 16b. | Loyal shoe company opened a branch at madras 1.1.89 .from the following
particulars the Madras Branch Account for the years 1989 and 1990.
Particulars 1989(Rs) | 1990 (Rs)
Goods sent to Branch 15000 45000
Cash sent to Branch for Rent 1800 1800
Salaries 3000 5000
Other expenses 1200 1600
Cash received from the branch | 24000 60000
Stock on 31st Dec 2300 5800
Petty cash in hand on 31st Dec 40 30
CO2 K4 17a. | Mr. X Purchased a machine on hire purchase system Rs 3000 being paid on
delivery and the balance in five instalments of Rs 6000 each, payable
annually on 31st December. The cash price of the machine was Rs
30000.calculate the amount of interest for each year.
OR
CO2 K4 17b. | X purchased a typewriter on hire pur(cha)se system. As per terms ,he is
required to pay Rs 800 down, Rs 400 at the end of the first year Rs300 at the
end of the second year and Rs700 at the end of the third year .Interest is
charged at 5% P.a. Calculate the total cash price of the typewriter and the
amount of interest payable on each instalment.
CO3 | K4 | 18a. | From the following information prepare Crop Account.
Opening stock of Grain 3000
Purchase of Seeds 1500
Sale of grain 15000
Grain distributed as wages 2000
Wages paid in cash 3000
Grain consumed by proprietor 2000
Closing stock of grain 6000
(OR)
CO3 | K4 | 18b. | From the following Prepare Crop Account.
Opening stocks Grain 3000
Opening Stocks Seeds and fertilizers 2000
Purchases
Seeds 500
Fertilizers 1500
Sale of grain 15000
Grain distributed as wages 2000
Wages paid in cash 3000
Grain consumed by the proprietor 2000
Grain consumed by the livestock section 1500
Repairs and Maintenance of farm machinery | 1200
Depreciation on farm machinery 300
Crop insurance 500
Closing Stock grain 6000
Closing stock Seeds and fertilizers 3000
CO4 | K35 | 19a. | A firms earns Rs 120000 as its annual profits the rate of normal profit
being 10%.The asset of the firm amount to Rs 1440000 and liabilities
Rs 480000. Find out the value of goodwill by capitalisation method.
OR
CO4 | K5 | 19b. | A firm earned net profits during the l(ast ‘zhree years as follows

I year — Rs 36,000 II year — Rs 40,000 III year — Rs 44,000
The capital investment of the firm is Rs 1,20,000 .A fair return on the capital
having regard to the risk involved is 10%.calculate the value of the goodwill
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on the basis of three years purchase of super profits.

CO5

K5

20a.

CO5

K5

20b.

Sundar, Sankar and Sharma are partners sharing profits and losses as to
Sundar 1/2,Sankar 1/3 and Sharma 1/6.0n 31st December 1990, their
capital accounts, after including the profit for the year ended 31st December
1990, and dealings with drawings stood at Rs.13,000, Rs.10,000 and Rs.
5,750 respectively.

Subsequently they found out that interest on capital at 5% per annum and
interest on drawings at the same rate had been omitted. The profit for the
year in arriving at the above figures of Capitals amounted to Rs.9, 000. The
drawings of Sundar, Sankar and Sharma during the year had been Rs. 1,500,
Rs. 500 and Rs. 750 respectively. The interest on drawings works out to be
Rs. 35 for Sundar, Rs.20 for Sankar and Rs.20 for Sharma.

Give the necessary entries for rectifying the above omissions. Also prepare
Profit & Loss appropriation A/c and the revised capital accounts of Sundar,
Sankar and Sharma.

(OR)
From the following prepare Crop Account.

Opening Stock 8000
Grains 600
Seeds 3000
Fertilizers 5000
Purchases 1800
Seeds 8200
Fertilizers 32000
Sale of grain 3300
Grains distributed as wages 3700
Wages paid in cash 4300
Grains used by the proprietor 2700
Grain s consumed by the livestock section | 25000
Repairs to farm machinery 1900
Depreciation on farm machinery 2500
Crop Insurance 600
Closing stock

Grains 3700
Seeds 300
Fertilizers 400




